 Urban Issues and Challenges - Urban growth across the world
What is urbanisation? 
Why did urbanisation first occur in HICs?
Describe patterns of urbanisation in HICs 
today. 
Why are rates of urban growth higher in 
LICs than HICs. 
Identify three pull factors that result in 
people migrating from rural to urban areas. 
Identify three push factors that result in 
people migrating from rural to urban areas. 
Identify the two factors that affect the rate of 
urbanisation. 
Give three reasons for the increasing trend of 
counter-urbanisation in HICs.  
Identify the three countries that are 
expected to account for 37 per cent of 
the growth in the world’s urban 
population between 2014 and 2050. 
Why is there typically a high natural 
increase in urban areas? 
Where are the majority of the world’s 
mega cities located? 
What is a mega city?
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